D1vISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH A REMAINDER zaje o
1) —24222 -7 = 556) 30421 =5 =
2 —47894 + (—6) = w7 —36617 + 5 =
w3 —18065 + (—5H) = 08) 20214 =5 =
1) —38470 = 4 = 559) 17091 =7 =
545 51719 + 6 = 60 —9694 =+ 3 =
516)  —42832 + 10 = 61 —9967 + (—2) =
517 16063 = 3 = 562 —12765 + 3 =
9 —19700 + 2 = 03 —18721 + (=3) =
0 11215 + (—2) = ) —72333 + (=9) =
550) —T7736 + 4 = 565 98209 + (—10) =

51 —46060 = 5 =
552) —21336 + 3 =
553) —47054 = 8 =
) 6545 + (—=T7) =

) 10843 =2 =

Mathematics: Division - Level 8 - Horizontal - Set 5
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4833 + (—1) =
—43611 = (—10) =
623 + 2 =

20342 + (—6) =

—34597 + (—6) =
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